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3HEE 2012 &
o &k 22 ox
£ M SJ|gERIRA
gARE SE3 Eel @ EY)
o 5 o oa w2 EEL
2 -8 - Hg - = o & o
2 Al 4,649,418 2,605,076 2,044,342
700 SEHLArRHEHIZ 4,649,418 2,605,076 2,044,342
710 SHHIES 1,744,418 155,076 1,589, 342
715 gRzeld 144,418 155,076 A~ 10,658
101 Q14| 52,218 65,876 A 13,658
o1 2= 52,218 43,168 9,050
N2t Z2 R+ 8,078& x 1221 x67Al2+ x 12& x0.67 52,218
102 A== Fd| 14,640 12,720 1,920
01 HHZYSLHAY| 1,200 1,200 0
oHE 100,000& x 121 x 122 1,200
03 EZYFHAH 13,440 11,520 1,920
SILSMSRE(SSHY) 80,000& x 12¢! x 123 11,520
JZEI} AR BEERE 80,000 x 2¢1 x 122 1,920
201 =2g&dl 54,920 53,840 1,080
01  AtR2cld] 42,140 41,060 1,080
2Bk ZH| 42,140
MEALXESF 600,000& x 12 7,200
SIHA & et AA 20,000 x 15& x 205 6,000
SHMLESSH 2LA M 35,000& x 1002 3,500
SENLEESH ZLTA =2 15,000,000& x 1] 15,000
M2RER 15,0003 x 63 x 122 1,080
ez (=2E010) 220,000& x 1CH x 123 2,640
SEH(SGNHLLRFH) 7,000& x 821 x 10& x 122 6,720
02 Z=2ZH| 12,780 12,780 0
33224l 12,780
OIS HEZAAE RXNES 2,660,000 x 14 2,660
XY 23 2ER=S 1,750& x2,000A4 3,500
FAX =2 35,0003 x 104 x 122 420
A= XA 500,000& x 1CH 500
ASAEEE 700,000& x 1CH 700




SHEE 2012 &
o A= Sx
£ A =SV
3 HPE CE P (&9l : HE)
ot = o oa o | B EED o
TR of & o
AR 5,000,000%! x 1CH = 5,000
202 Oitl 13,440 13,440 0
01 2L X0 13,440 13,440 0
ZANHL YL = 20,0002 x 891 x 78| x 128 = 13,440
203 PRFH| 9,200 9,200 0
03 AlBFEFADRETY 5,000 5,000 0
ZYNHL YL =T 5,000,000% x 1 = 5,000
04 SANRIYRETH 4,200 4,200 0
g’ 350,0008! x 128 = 4,200
716 ZAOIX 1,600,000 0| 1,600,000
309 ZIIRSHE AL 1,600,000 0| 1,600,000
01 ZIIBSHHAISHI 1,600,000 0| 1,600,000
HaX T 2012 OIE HRHEY 288 &3
5,333,33381 x300nx 0.5 = 800,000
H4aX7 208 OHIE FRH H2H $sSH &X
3,555,5558 x 4500 x 0.5 = 800,000
720 Feltlg 2,905,000 2,450,000 455,000
X 20l X2 124 7 2,905,000 2,450,000 455,000
AEHOI Xt 2,905,000 | 2,450,000 455,000
SPSNEIPNE=BT & 2,905,000| 2,450,000 455,000
83,000,000,0002! x3.5% = 2,905,000
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SHEE  : 2012 W
HARE  :gx
s A SSIERECEEY
sH7E  : SHal (6t9) : AH)
(=} S L5
J";]é*)dlé*; ml&ﬁ;ji s =
&t H 50,350,582 | 106,794,924 | /56,444,342
100 XE=XE 50,350,582 | 106,794,924 | A56,444,342
110 THDR-AF 427,000 592,000| 165,000
11 SXZ& A 427,000 592,000 165,000
401 A&HIS 427,000 592,000|  ~165,000
01 Al&l 417,000 582,000| 165,000
We LN NRSLAHE HMB]S 117,000,008 x 140 = 117,000
HAXP AEE KRR 300,000,000% x 141 = 300,000
03 AlE=CHH| 10,000 10,000 0
HEXP A0 10,000,008 x 14 = 10,000
130 JHS&HIXH & 300 0 300
137 BIITHIE 300 0 300
405 THHFHSHIS 300 0 300
01 K&tz S| 300 0 300
DARSI BY(BH) 300,000% x 10§ = 300
180 HIRSSIHAES 40,000,000 | 50,000,000 | A 10,000,000
181 IR S48 40,000,000 | 50,000,000 | A 10,000,000
181-4 AZRNANLIIS4ES 40,000,000 | 50,000,000 | A 10,000,000
HaXP NSNS Yz 83 o 40,000,000  50,000,000| 2 10,000,000
40,000,000,0008! x 13| = 40,000,000
800 0fl il 9,923,282 | 56,202,924 | 146,279,642
810 0iHIH] 9,923,282 | 56,202,924 | ~46,279,642
811 ofult] 9,923,282 | 56,202,924 | £46,279,642
I 9,923,282,0002 x 14l = 9,923,282 |  9,923,282| 56,202,924 146,279,642
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